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QUESTION 1

Given the drive dimensions as follows and assuming a sector has 512 bytes, what is the capacity of the described hard
drive? 

22,164 cylinders/disk 80 heads/cylinder 63 sectors/track 

A. 53.26 GB 

B. 57.19 GB 

C. 11.17 GB 

D. 10 GB 

Correct Answer: A 

 

QUESTION 2

The police believe that Melvin Matthew has been obtaining unauthorized access to computers belonging to numerous
computer software and computer operating systems manufacturers, cellular telephone manufacturers, Internet Service
Providers and Educational Institutions. They also suspect that he has been stealing, copying and misappropriating
proprietary computer software belonging to the several victim companies. What is preventing the police from breaking
down the suspects door and searching his home and seizing all of his computer equipment if they have not yet obtained
a warrant? 

A. The Fourth Amendment 

B. The USA patriot Act 

C. The Good Samaritan Laws 

D. The Federal Rules of Evidence 

Correct Answer: A 

 

QUESTION 3

After passing her CEH exam, Carol wants to ensure that her network is completely secure. She implements a DMZ,
stateful firewall, NAT, IPSEC, and a packet filtering firewall. Since all security measures were taken, none of the hosts
on her network can reach the Internet. Why is that? 

A. Stateful firewalls do not work with packet filtering firewalls 

B. NAT does not work with stateful firewalls 

C. IPSEC does not work with packet filtering firewalls 

D. NAT does not work with IPSEC 

Correct Answer: D 
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QUESTION 4

What type of file is represented by a colon (:) with a name following it in the Master File Table of NTFS disk? 

A. A compressed file 

B. A Data stream file 

C. An encrypted file 

D. A reserved file 

Correct Answer: B 

 

QUESTION 5

You are running through a series of tests on your network to check for any security vulnerabilities. 

After normal working hours, you initiate a DoS attack against your external firewall. The firewall Quickly 

freezes up and becomes unusable. You then initiate an FTP connection from an external IP into your 

internal network. The connection is successful even though you have FTP blocked at the external firewall. 

What has happened? 

A. The firewall failed-bypass 

B. The firewall failed-closed 

C. The firewall ACL has been purged 

D. The firewall failed-open 

Correct Answer: D 
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